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James says “1.45 is equal to 145%"
Matt says “that is impossible, you cannot have a percentage greater than 100%"
Who do you agree with? Explain your answer.
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The distance from the Sun to Pluto is 3.67 billion miles.
Write this number in standard form.
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Nicole has rounded a number to one decimal place.
Her answer is 9.2
Write down 10 different possible numbers that she could have rounded.
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Heywords

Percent: parts per 100 —written using the  symbol

Decimal a rumber in our base 10 number sustem Numbers to the right. of the decimal place are caled decimals
Fraction: a fraction represents how many parts of a whoke vabe you have

Equivalent: of equal vale.

Reduce: to make smaler in valve

Growth: to increase/ to grow

Integer: whole number, can be posive, negative or zero

Invest: use money with the godl of it increasing in valve over time (usualy i a bank)
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Beywords

Standard (index) Form: Ot sustem of writing very big or very smal nombers

Commutative: an operaition is commutative if changing the order does not change the resutt

Base: The number that gets muttipled by a power

Power: The exponent — or the number that tels you how many times to use the number in muttipleation
Exporent: The power — or the number that tels you how many times to use the number in muttipleation
Indices: The power or the exponent

Negative: O vale below zero.
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Beywords

Significant: Place. vale. of mportance

Round: Making a number simpler but keeping its vabe close to what it was
Decimal: Place holders after the decimal point.

Overestimate: Rounding up — giues a solution higher than the actual vale
Underestimate.: Roundng down — ges a solution lower than the. actual valve
Metric: O system of measurement

Balance: The amount of money in a bark account

Deposit: Putting money into a bark dccount




